
Olympiad 2018 

Class 6 

 

Important Instructions: 

• All questions carry equal weightage. 

• 10 minutes are provided for filling the OMR sheet and reading the instructions. 

• Exam duration is 1 hour only. 

• Please ensure that this question paper has 50 questions. It is divided into the following 

sections – 

For class 1st to 5th: Mathematics, Science, English and General Knowledge 

For class 6th to 10th: Mathematics, English, Science, General Knowledge and Logical 

Reasoning 

• Every question has one correct answer. 

• Please read the instructions for answering given on the OMR sheet. 

Candidates must submit a completely filled OMR sheet before leaving the hall. 

• There is no negative marking. 

 

Section A– Mathematics 

 
1. The product of place values of two 3’s in 253893 is 

 

253893 म  े  े  3 के   दे ने से् े   

थानम  े ल्े क 

A. 90,000 

B. 9,000 

C. 30,000 

D. 3,000 

ेाउत्पादहै: 

 

2. Which of the following numbers is incorrect in Roman numeral system? 
 

र मनअे े  कप्रणाले म  े  े ननम्ननलखिेतम  े  े स  े के नस से े  ख्यागलतहेै? 

A. MMLLX 

B. MMMLX 

C. DCCXL 

D. DCCCLXXII 

 

3. What is the least number to be subtracted from 1045 to get a number exactly divisible by 22? 

1045 के  22 स  े िनभेाज्यबनेान  े के   नलएघटाएजान  े िेेाल न्य  े नतमसे े  ख्याक्येाहेै? 



A. 13 

B. 22 

C. 7 

D. 11 

 

4. John has stamps from different countries. 1/3rd of them are India stamps. If he has 36 Indian 

stamps, how many stamps does he have in total? 
 

जॉनके  पासिननभन्नदे   श के  स्टेैम्पह।उनैे  े  मसे  े  े  1 / 3rd भारतके  

स्टेैम्पह।अगरउसैेे   के   पास 36 भारत यस्टेैम्पहेै  े , 

त उसक  पासकु लनकतन सै्टम्पहैं? 

A. 12 

B. 108 

C. 36 

D. 48 
 

5. What value of "x" makes the given equation true? 

"x" काक नसामाननदएगएसम करणक सह बनाताहै? 

-18 + (-6x) = 0 

 

A. -3 

B. 3 

C. 2 

D. -2 

6. The lowest common multiple of 10, 15 and 20 is x. The value of x is 

10, 15 और 20 केालघेुत्तमसमेािपतते्य x हेै। x केामानहेै 

A. 20 

B. 30 

C. 40 

D. 60 

 

7. Which of the following statement is correct? 
 

ननम्ननलखखतमेंस क नसाकथनसह है? 

A. 𝑎𝑏+𝑐 = 𝑎 + 𝑐 
𝑏 

 

B. 
𝑎+𝑐 

= 
𝑏 

𝑎+𝑐 𝑐 

https://www.proprofs.com/discuss/q/1424404/john-stamps-different-countries-13rd-them-india-indian-many-
https://www.proprofs.com/discuss/q/1424404/john-stamps-different-countries-13rd-them-india-indian-many-
https://www.proprofs.com/discuss/q/1623522/whatvalue-of-makes-the-equation-below-true15-5x


C. 
𝑎𝑏+𝑎𝑐 

= 
𝑏+𝑐 

𝑎𝑑 𝑑 

D. 
𝑎(𝑏+𝑐) 

= 
𝑏+𝑐 

𝑎×𝑑 𝑎𝑑 

 
 
 

8. The age of Tanu is 20 years and the age of Mani is 36 years. If the ratio of the age of Mani to 

the age of Beena is 3: 2, then the ratio of the age of Tanu to the age of Beena is: 
 

तनुक उम्र 20 सालऔरमनणक उम्र 36 सालहै।यनदमनणक उम्रऔरब नाक उम्रकाअनुपात 3: 2 है, 

त तनुक उम्रऔरब नाक उम्रकाअनुपातहै: 

A. 1: 2 

B. 2: 3 

C. 3: 4 

D. 5: 6 

 

9. Evaluate 𝑎2 + (−𝑎𝑏2) − 𝑎2𝑏2 if a = -2 and b = 3. 
 

यनद a = -2 और b = 3, ते म  े ल्ेाे े  कनकरे   े  𝑎2 + (−𝑎𝑏2) − 𝑎2𝑏2 

A. 14 

B. -14 

C. - 50 

D. 44 

 

10. If the perimeter of a square is 76 cm, then the area of the square will be: 
 

यनदएकिेगयके पररनिे 76 स  े म हेै, त िेगयकेाक्ष  े त्रफलहे गेा: 

A. 152 cm2 

B. 304 cm2 

C. 361 cm2 

D. 1444 cm2 

 

 

Section B – English 

 
11. Which of the following isthe misspelt word? 

 

A. Grief 

B. Except 

C. Greatful 



D. Gourd 

 

12. My grandmother told me a fairy . 
 

A. tale 

B. tail 

C. story 

D. table 

 

13. I am going buy a dress. 
 

A. for 

B. of 

C. in 

D. to 

 

14. Choose the part of the sentence that has an error: 
 

I saw you in the park yesterday. You were sitting on the grass and read a book. 

A. I saw you in the park yesterday. 

B. You were sitting on the grass 

C. read a book 

D. no error 

 

15. Choose the antonym of “Improve”. 
 

A. Enhance 

B. Descend 

C. Advance 

D. Revamp 

 

16. The historic speech on September 11, 1893 by Swami Vivekananda. 
 

A. is given 

B. given 

C. gave 

D. was given 

 

17. The school bell rings 8:00 a.m. 
 

A. by 

B. at 



C. on 

D. till 

 

18. Which of the following forms a meaningful sentence after rearranging words? 
 

A. working/I/May/project/have/on/since/this/been 

B. working/I/May/project/on/since/this/been 

C. working/I/May/project/have/on/this/been 

D. working/I/May/project/have/since/this/been 

 

19. The of natural resources is important because of our dependence on them. 
 

A. conversation 

B. conversion 

C. conservation 

D. consumption 

 

20. Choose the synonym of “Enormous”. 
 

A. Miniscule 

B. Vast 

C. Tiny 

D. Miniature 
 

Section C – Science 

 
21. Neutral insulator P is rubbed with neutral insulator Q. Insulator P becomes positively charged 

after rubbing. Which of the following statements is correct? 
 

A. P loses some electrons to insulator Q. 

B. Q loses some electrons to insulator P. 

C. P gains positive charge from insulator Q. 

D. Q gains positive charge from insulator P. 
 

 

 तटस्थ ििस िेेाहक P क  तटस्थ ििस िेेाहक Q क  साथरगडाजाताहै।इनु्सल टर P  

 रगडन  े के   बेादिेनआिे  े श स  े चाजयह जातेाहेै।ननम्ननलखखतकथने मे   े     े  े स  े के नसह हेै?  

 
A. P के ु  छइल  े क््टर े ान Q के दे   ताहेै। 

B. Q के ु  छइल  े क््टर े ान P के दे   ताहेै। 

C. P, Q स  े िेनआिे  े श ल  े ताहेै। 



D. Q, P स  े िेनआिे  े श ल  े ताहेै। 

 
22. Rotation of Earth on its axis is an example of which type of motion? 

 

A. Rectilinear motion 

B. Circular motion 

C. Rotational motion 

D. Oscillatory motion 

 

अपन िेेुर परप  े थ्व केाघ  े मनानकसप्रकेारक गनतकेाएकउदेाहरणहेै? 

A. र  खक््टनलननयरगनत 

B. घ  े नयनगनत 

C. घ ण गनत 

D. द लनश लगनत 

 
23. What is the name of the joint which exists between our shoulder and arm? 

 

A. Hinge joint 

B. Pivot joint 

C. Ball and socket joint 

D. Fixed joint 
 

 

 से े  निे केा नेाम क्येाहेै ज  हमेार  के   ध  े  और बेा  े ह के    बे च म ज  े द हेै?  

 
A. नहे े  जसे े  िन 

B. िेेुराग्रसे े  िन 

C. कन्देुक-उल  े िेलसे े  िन 

D. अचलसे े  िन 

 
24. 1 kg of iron occupies less space compared to 1 kg of sponge because: 

 

A. Iron has less density than sponge. 

B. Iron and sponge have equal densities. 

C. Iron has more density than sponge. 

D. Weight of iron per unit volume is less than that of sponge. 

1 नकले स्पे े  जक तेुलनाम  े  े  1 

नकले ले हेाकमजगहघ  े रताहेैक्ये नक: 

A. स्पे े  जक तेुलनाम  े  े आयरनकेाघनत्िकमहे ताहेै। 



B. ले ह  े औरस्पे े  जकाघनत्वसमेानह तेाहेै  े । 

C. स्पे े  जक तेुलनाम  े  े ले ह  े म  े  े अनिेकघनत्िह तेाहेै। 

D. ले ह  े केािेजनप्रनतय  े ननटआयतनस्पे े  जक तेुलनाम  े  े कमहे ताहेै। 

 
25. For strong bones and teeth we need 

 

मजब  े तहनिेय और

देाे े  ते क 

A. Vitamin D 

B. Vitamin E 

C. Vitamin A 

D. Vitamin K 

 े  नलएहम  े  े चेानहए 

 

 

26. Silk is a . 
 

A. Cellulose fibre 

B. Protein fibre 

C. Fat fibre 

D. Mineral fibre 

 

र  शम एक है | 

A. स ल्  े ल जफाइबर 

B. प्र ट नफाइबर 

C. िेसाफाइबर 

D. िेननजफेाइबर 

 
27. The middle region of a bar magnet is: 

 

A. a north pole 

B. a north seeking pole 

C. weekly magnetized 

D. magnetized 

 

एकबेारचुेे  े  बककेामध्यक्ष  े त्रहेै: 

A. एकउत्तर ध्रेुिे 

B. एकउत्तर ध्रेुिेढे   े े   ढ़रहा 

C. अचुम्बक य 

D. चुम्बक य 



28. Which of the following has reddish-brown colour? 
 

A. Gold 

B. Copper 

C. Iron 

D. Brass 

 

ननम्ननलखखतम  े  े स  े नकसकेारे े   गलेाल-भ  े राहेै? 

A. स ना 

B. तेाे े  बेा 

C. ल हा 

D. प तल 

 
29. If boiled milk is allowed to cool and is then poured on a piece of cloth, we find that cream 

(malai) is left behind on cloth. This process of separating cream from milk is 
 

A. filtration 

B. decantation 

C. sedimentation 

D. churning 

 

यनदउबल  े हुएदे   िेके ठे े   डेानकयाजाएऔरनफरकपड  े के   टेुकड  े परडालेाजाताहेै , 

त हमपेात  े हेै  े नकक्रे म (मलेाई) 

कपड  े परप छे   रहगईहेै।दे   िेस  े क्रे मके अलगकरन  े के यहप्रनक्रयाहेै 

A. ननस्पे े  दन 

B. ििस्तारण 

C. िअसािद 

D. मे े  थन 

 
30. The germination of a seed is 

 

A. a physical, reversible, desirable change in which energy is produced 

B. a fast, chemical reaction in which energy is released 

C. a slow irreversible, desirable, chemical change 

D. a fast, irreversible, undesirable chemical change 

 

एकबे जकाअे े  के ु  रणहे ताहेै 

A. एकभ नतक, प्रनतिेत , िेेाे े  छन यपरररतयननजसम  े  े ऊजेायकेाउत्पेादनह तेाहेै 

B. एकत  े ज़, रासायननकप्रनतनक्रयानजसम  े  े ऊजेायननकलते हेै 

C. एकिेे माअपरररतयन य, िेेाे े  छन य, रासायननकपरररतयन 

D. एकत  े ज, अपरररतयन य, िअेाे े  छन यरासायननकपरररतयन 



 

Section D – General Knowledge 

 
31. Which country has won the most Cricket World Cups? 

 

A. India 

B. England 

C. Sri Lanka 

D. Australia 

नकसद शन सबस अिनकनक्रक  टिनश्वकपज त हैं? 

A. भारत 

B. इे े  गलेै  े ड 

C. श्र ले े  केा 

D. ऑस्टर  े नलया 

 
32. Where was India’s first nuclear test conducted? 

 

A. Banglore 

B. Pokhran 

C. Gujarat 

D.Hyderabad 

 

भारतकेापहलेापरमेाणेुपर क्षणकहेाेाे  नकयेागयाथेा? 

A. बे े  गले र 

B. प िेरण 

C. गुजरात 

D. हैदराबाद 

 
33. Who composed the national anthem of Bangladesh? 

 

A. Mohammad Iqbal 

B. Bankim Chandra Chattopadhyay 

C.GaganHarkara 

D. Rabindranath Tagore 

 

बेाे े  ग्लेादे   शके  रेाष््टर गेानके रचनानकसन  े के ? 

A. म हम्मदइकबाल 

B. बे े  नकमचे े  द्रचट्टे पाध्याय 

C. गगनहरकारा 



D. रनिेे े  द्रनाथटेैगे र 

 
34. On which day the 20th anniversary of Kargil Vijay Diwas was observed across India? 

भारतभरम  े  े केारनगलिनजयनदिेसक  20 िेे िेरे्यगेाे े  ठनकसनदनमनाईगई? 

A. 25th July 

B. 26th July 

C. 22nd June 

D. 20th July 

 

35. Which Indian batsman became the first in the world to score 5 centuries in a World Cup 

tournament? 
 

A. Rohit Sharma 

B. ViratKohli 

C. M.S. Dhoni 

D. ShikharDhawan 

 

के नभारत यबल्ल  े बेाजिनश्वकपटे   नेायम  े  े टम  े  े  5 शतकबनान  े िेेाल  े िनश्वके   

पहल  े खखलेाडे बन  े ? 

A. र नहतशमेाय 

B. िनराटक हल  

C. एम.एस.िेे न  

D. निशररिेन 

 
36. Vijender Singh is associated with which sport? 

 

A. Cricket 

B. Shooting 

C. Boxing 

D. Football 

 

िनज  े  े दरनसे े  हनकसिे  े लस  े जेुड  े हेै  े ? 

A. नक्रक  ट 

B. श  े नटे े  ग 

C. बेॉखसे े  ग 

D. फु टबॉल 

 
37. Who was the first woman Governor of an Indian State? 



A. Sarojini Naidu 

B. Indira Gandhi 

C. PratibhaPatil 

D. Sheila Dixit 

 

भारत यराज्यक पहल मनहलाराज्यपालक नथ ? 

A. सर नजन नायड  

B. इे े  नदरागेाे े  िेे  

C. प्रनतभापानटल 

D. श लाद नक्षत 

 
38. Who is the first Indian women Olympic Medal winner? 

 

A. SainaNehwal 

B. Sakshi Malik 

C. KarnamMalleshwari 

D. SaniaMirza 

 

पहले भारत यमनहलेाओले े  नपकपदकिनज  े ताके नहेै? 

A. साइनान िहाल 

B. साक्ष मनलक 

C. कणयममल्ल  े श्वर  

D. साननयानमजेाय 

 
39. In which year the Rabindranath Tagore won the ‘Nobel Prize in Literature’? 

 

ररे द् रनाथटगे रने ेै नकिसरे्यम  े  े  ‘सानहर्त्तने  े   े बलपरस्कारेु  े  ’ ज ता? 
 

A. 1918 

B. 1913 

C. 1915 

D. 1920 

 

40. Which is the highest civilian award of the Republic of India? 
 

A. The Padma Shri 

B. The Padma Bhushan 

C. The Padma Vibhushan 

D. The Bharat Ratna award 

 

भारतगणराज्यकािस च्चनागररकपुरस्कारक नसाहै? 



 

A. पद्मश्र  

B. पद्मभ णत 

C. पद्मिनभ णत 

D. भारतरत्न 

Section E – Logical Reasoning 
 
 

41. Choose the correct option: 
 

If Taj Mahal : India, then Pyramid : ? 

A. The United States of America 

B. Egypt 

C. London 

D. Paris 

 
 

सह िनकल्पचुनें: 

अगरताजमहल: भारत, त नपरानमड:? 

A. सये े  ेुक्तराष््टर अम  े ररकेा 

B. नमस्र 

C. ले े  दन 

D. प ररस 

 

42. Choose the correct option: 

Shimla : Hill:: Udaipur : ? 

A. Beach 

B. Mountain 

C. Plateau 

D. Lake 

 

सह िनकल्पचुनें: 

नशमला: पहाड :: उदयपुर:? 

A. समुद्रतट 

B. पि येत 

C. पठार 

D. झ ल 



43. Choose the odd one out: 
 

A. 23 

B. 19 

C. 43 

D. 56 

 

िनमतचुनें: 

A. 23 

B. 19 

C. 43 

D. 56 

 

44. Preeti is 16 years old. Preeti’s father is 2 years older than her mother. Preeti’s mother is 4 

years older than 3 times Preeti’s age. What is the age of Preeti’s father? 
 

प्र नतके उम्र 16 सालहेै।प्र नतके   नपतेाउसके मेाेाे  स  े  2 सालबड  े हेै  े ।प्रे नतके मेाे े  प्र नतके उम्रके    3 

गेुनास  े  4 

सालबड हेै।प्रे नतके  नपतेाके उम्रक्येाहेै? 

A. 52 years 

B. 50 years 

C. 56 years 

D. 54 years 

 

45. Choose the correct option: 

 

A. 

 

B. 

C. 



 

 

D. None of these 

 

सह िनकल्पचुनें: 

A. 

 

B. 

C. 

 

D. इनम स क ईनह  
 

 

46. How many meaningful english words can be formed with the letters RABG using each letter 

only once in each word? 
 

प्रत्त  े कशब्दमेंक  िेलएकबारप्रत्त  े कअक्षरकाउपय गकरक  RABG 

अक्षर क 

A. 0 

B. 1 

C. 2 

D. 3 

 े  साथनकतन  े साथयकअे े  ग्र  े ज शब्दबनाएजासकत  े हेै  े ? 

 

 

 

47. Which number will replace the question mark in the given figure? 
 

दे गईआके  नतम  े  े प्रश्ननचन्हके जगहके नस से े  ख्याहे गे ? 



 

 

A. 10 

B. 16 

C. 18 

D. 34 

 

48. If “+” is “×”, “-“ is “+”, “×” is “÷” and “÷” is “-“, then solve the following: 

25 × 5 – 7 + 3 ÷ 4 

A. 22 

B. 20 

C. 32 

D. Cannot be determined 

 

यनद “+” “×” है, “-” “+” है, “×” “÷” हैऔर “÷” “-” है, त ननम्ननलखखतक हलकरें  : 25 

× 5 – 7 + 3 ÷ 4 

 

A. 22 

B. 20 

C. 32 

D. ननिेेायररतनहे नकयाजासकताहेै 

 
49. Arrange the given words in the sequence in which they occur in the dictionary and choose the 

correct sequence. 
 

नदएगएशब्द के उसक्रमम  े  े व्यिेखस्थतकरे   े  नजसमिेे  े  े   शब्दक शमह तहऔरसैेे े  े  े

 ह अनेुक्रमचेुन  े  े । 
 

1. Accent 2. Access 3. Achieve 4. Ache 5. Absorb 

A. 5, 2, 1, 3, 4 

B. 5, 2, 1, 4, 3 

C. 5, 1, 2, 3, 4 

D. 5, 1, 2, 4, 3 

 

50. If English alphabets are written in the reverse order, what will be the 9th letter on the left of 

the 12th letter from the right end? 

 

यनदअे े  ग्र  े ज अक्षरउल्ट  े क्रमम  े  े नलिे  े गएहेै  े , त देानहन  े छ रस  े  12 िे  े  े अक्षरके  बेाईे  े  ओर 9 

िेेाे े  अक्षरक्येाह गेा? 



A. T 

B. U 

C. V 

D. F 


